PRODUCT INFORMATION PACKET

Model No: CIM34D18FC10B
Catalog No: M1130297.00
...18KW-1/4HP..1800RPM.63D.IP54.24V...51.40C.1.0SF.B14.CIM34D18FC10B.............
Metric Motors

Regal and Leeson are trademarks of Regal Beloit Corporation or one of its affiliated companies.
©2018 Regal Beloit Corporation, All Rights Reserved. MC017097E

lof5



Product Information Packet: Model No: CIM34D18FC10B, Catalog No:M1130297.00 ...18KW-

1/4HP..1800RPM.63D.IP54.24V...S1.40C.1.0SF.B14.CIM34D18FC10B

Nameplate Specifications

Output KW

Current

Service Factor

Duty

Frame

Overload Protector
Drive End Bearing Size
UL

CE

Technical Specifications

Rotation
Overall Length
Shaft Diameter

Outline Drawing

0.18 kW

10.0 A

S1

63D

No

6201-13
Recognized

N

Reversible
8.75in
0.437in

M1030621

Voltage

Speed

Efficiency

Insulation Class

Enclosure

Ambient Temperature

Opp Drive End Bearing Size

CSA

Mounting
Frame Length
Shaft Extension

Connection Diagram

24V
1800 rpm
76.5 %

E

IP54

40 °C
6201-13

Y

B14
6.43in
0.905in

M100514801

This is an uncontrolled document once printed or downloaded and is subject to change without notice. Date Created: 10/15/2018

20f5



(4) M5x0.8—-6H x 8.0 DP
EQUALLY SPACED
ON A $75.0 [2.953] BC

M1030621.00

,,._
[
H

—————————,

NAMEPLATE
THIS SIDE\

b

222.3 [8.75]
23.0 +.76 [.905] 128.5 [5.06] PG—11
/ TAP
9.0 [.35] r—
2.5 [.008]
19.0 [.748]
FULL DEPTH N —
1} o
4MM SQ KEY 0
TR o _ e |3
A (90T1)
— o
3 — g
|u_)| ms \
el :
o~ AN f I
— 3 | — 3__ -_— e — g - N | EE——
- o
o,
[o1]
7 #
&) i
e j 1y T - !
" M4x0.7—6H sal L ! @
@ x 10.0 [.394] DP MIN s | y,
[
!
Ne— (mm] s I 14
—Q
22 | "N\ opmionaL B3
s 8.1 [.32] REMOVEABLE FEET
40.0 [1.575] 40.0 [1.575]
1
80.0 [3.150]
96.0 [3.78]
un PN e ELECTRIC MOTORS DRAWN _SAD 01/15/98
DEC.| INCHES LEESO GEARMOTORS CHK
X +.1 AND DRIVES APPD
(xx | .03 e OUTLINE SCALE S=4
xxx | +.008 IEC D63—B14 FLANGE REF  M1030347.00
01 | ADDED +.76 TO THE 23.0 [.905] DIM PER ECR 82033 |BPW 04/17/03 0| +.0005  |mATL 34 FRAME FMF M1130297.00
NO. REVISION | ey & paE N[ £1/27 [rNisn CHRIS MOTOR PREV
THIS DRAWING IN DESIGN AND DETAIL IS OUR PROPERTY AND MUST NOT BE USED EXCEPT CAD FILE M1030621 SIZE |DRAWING NO. REV.
IN CONNECTION WITH QUR WORK ALL RIGHTS OF DESIGN AND INVENTION ARE

THIS IS AN ELECTRONICALLY GENERATED DOCUMENT — DO NOT SCALE THIS PRINT

[|B] M1030621.00 |01

7/20/2007 7:54:57 PM -




ERROR: synt axerror
OFFENDI NG COMVAND:

STACK:

-savel evel -

--nostringval - -

4 0of 5



M1005148.01

o
w
(%] — m x>
oM > ZQ
m > o O X
< =~
I —
mrm m
SF e >
5 m — ] e
SmZ
O
z
=Zz _ )
= pEp— |
'®) O e |
SKRa Ve 7 =
> =z = = m I
- =z
o om prd U
€30 C _ R
S 5 o @
o i °
sz \ | -
m = _\ _ _ | _
TI T
w (@) | O
mA A H
m | —
T OO
o _|= \ O
— . \
523 ) 0
593 =\ | r )
< o) > V s
=
8 (@] -7
22 5 ~ =
< O A
5= Py — m
mm ™ o o
+ = ey —
~ o0 = > m
> nwr >
wn [ O
T mm
m =
Pyl '@ o
<=
O
- >0
o
UNLESS SPEGRIED ELECTRIC MOTORS DRAWN DWF 08/21/93
03 | ADDED INSULATION TO FILTER ASSEMBLY LEADS, ISAAC |IPG 3/18/2011 DEC. | INCHES GEARMOTORS CHK
11-0805 X +.1 AND DRIVES APPD
02 | CORRECTED "N” & "S”, ECR 83508 SMB 12/18/03| IPG | XX [ .01 TITLE CONNECTION DIAGRAM SCALE 1=1
01 | 6—32 NUT WAS M3.5 & 6—32 SCREW WAS M3.5, REMOVHD 06,/21/99 XXX | +£.005 WITH FILTER CIRCUIT REF M1005126.01
WASHER, ECR 69963 XXXX| £.0005  [MATL. SEE ABOVE FMF  M1130199.00
NO. REVISION BY & DATE | CHK | ANG | +1/2° FINISH PREV
THIS DRAWING IN DESIGN AND DETAIL IS OUR PROPERTY AND MUST NOT BE USED EXCEPT RFP CAD FILE M100514801 SIZE [DRAWING NO. REV.
IN CONNECTION WITH OUR WORK ALL RIGHTS OF DESIGN AND INVENTION ARE RESERVED
THIS IS AN ELECTRONICALLY GENERATED DOCUMENT — DO NOT SCALE THIS PRINT DIST A M1 0051 4‘8 01 03

3/18/2011 11:36:58 AM

50f5




